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Section 1 - Paperl-General English

1) Choose the correct answer:
The question paper was difficult. Many questions were

A) attempt
B) ambiguous
C) certainly

)

D) humourous

2) Choose the right option to fill the blank:
My is unwell.

A) niece
B) knees
C) knee
D) nice

3) Choose the right option to fill the blank:
The two friends shared the pizza
themselves.

A
B
C
D

against
between
around
among

— e e

4) Choose the correct answer:
The judge was

towards the prisoner and
reduced the punishment.

A) heartless
B) cruel

C) harsh

D) merciful

5) Choose the correct answer:
They pledged to work towards

A) piece
B) peas
C) pace
D) peace
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Section 2 - Paperl-Education and General Awareness

6) Which of the following agencies of Education offers

knowledge which is systematized and classified into
subjects?

A) Society and social functions
B) Family and friends

C) Peer groups and family

D) Schools and Universities

B) AARYE 694 AYIRT QIR @GSl FAINLTS 9e° 679
G360 Gee ?

A) Qi@ 6 QIR QIIge
B) afeia 8 agaise

C) Q90269181 9a° A8
D) QauiRe 8 J9aIRa

7) Which Commission in India was established in 1979 by
the Janata Party Government under Prime Minister

Morarji Desai with a mandate to "identify the socially or
educationally backward." ?

A) Kothari Commission

B) Mandal Commission

C) Secondary Education Commission
D) Subrahmanyam Committee

7) “afIFe ¢ 991 9dQ agal adg 525 @8el” AR 1979 6
RALABT 6FIRIRTT 6QFIRT 6RFRER AT UIT AANA AIAGER
609 @Adq G092 @Rem ?

A) 1011 @fiaq
B) nae afiag

C) aridia a1 @5aq
D) ggadne «fa

8) Which of the following is the CORRECT reason for use
of mica in electric iron?

A) It is a bad conductor of heat but good conductor of
electricity

Join Us-

B) It is a good conductor of heat but bad conductor of
electricity

C) ltis a bad conductor of heat as well as electricity
D) It is a good conductor of heat as well as electricity

8) AERQ QR YRR 61 FIRRI MLAR TAFER AR U
6a% R1065 A0 268 ?

A) 42 910 @URQI2l g A94Q 9Ra QUAIal
B) 2l 10 QuieIal @g SQIQ 48 §UaIR
C) w2 91 o2 q4Q SAQ QUAIL! 265
D) el ga e21 @g4e s8Q guaIel 26s

9) Which of the following academic branches is NOT the
part of District Institute for Education and Training (DIET)?

A) Educational Technology (ET)

B) Socially Useful Productive Work (SUPW)
C) Pre-Service Teacher Education (PSTE)
D) Work experience (WE)

9) ARYe YRIEENR AAUYER AUQ 6RAE R 481 B gAVE
29919 (GURRT)R 2°ET6HT G6E ?

A) 9gERATIR 6ORERIENIT (@F)

B) caidzIm 9egm geqs gie (1agdes)
C) g-98iq Foq Ig6aaq (G4ata)

D) gie 1gaa9g(e])

10) Which of the following works on the principle of
Reverse Osmosis?

A) Water purifier
B) Stabilizer

C) Air Purifier

D) Air conditioner
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10) go10 9IAREA FAF QU6R FIRYS AP 6998 QU4 K6
?

A) GI9Q QeI

B) adaeeq

C) eI QIaTee

D) 916610 f0ad 20804

11) Article 21-A and the Right of Children to Free and
Compulsory Education (RTE) Act came into effect in the
year:

A) 2012
B) 2015
C) 2010
D) 2014

11) &Il 21-A 9&° AIGEI B QRIS FRI (IATR) 2IAR 9L
Qf QIR 62IRR:

A) 2012
B) 2015
C) 2010
D) 2014

12) As of June 2018, who is the Chief Election
Commissioner of India?

A) Amit Anilchandra Shah
B) Ashok Lavasa

C) Om Prakash Rawat

D) Sunil Arora

12) §Q 2018 g&, 91969 o FI00 2P &4 ?

A) 27iq Baneg 19
B) 26819 quaual

C) 6a geis QU9Q
D) gr1m aieqial

13) The pattern of secondary education proposed by the
Secondary Education Commission was

A) 8+3

B) 10+2+3
C) 8+3+3
D) 10+2

13) ArIfie dfle 99,9191 356 Akbia d91 RIZIT @6 26T
?

A) 8+3

B) 10+2+3
C) 8+3+3
D) 10+2

14) Which of the following are the four pillars of learning
proposed by Delors Report?

A) Learning to know, to write, to be, to live together
B) Learning to read, to write, to learn, to do

C) Learning to know, to do, to be, to see

D) Learning to know, to do, to be, to live together

14) 6R6RAIOE REAITER SRER FIRYE 699 Q1A IAYATG?

A) G189, 6RgQI, 6291 IRIOEIIRSSI
B) 0@, 6ngQl, A9, @RQIQIQEsl

C) @I§iQl, @8Ql, 629, 604NNV

D) gidiel, @8Ql, 629!, YRI0SEQIAIQSN
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Section 3 - Paperl-Reasoning

15) If ROSY is coded as QPTZ, then TOMB will be coded D) 212
as
A) SPNC = 3 z
B) SPND 17) 99 G169 881 VYL SR AT Q4 629 ?
?
C) SQNG 197, 118, 202, 99, 207, 80, ~
D) SPMC
A) 213
15) 93 ROSY § QPTZ Q69 691Q 98 QAIIRE, 6562 TOMB B) 207
@ Q00 6QIQ @3 aaIde C) 209
D) 212
A) SPNC - 4 N
B) SPND
18) If RID is coded as QHC, MAD is coded as LZC, then
C)sQNe TENT will be coded as
D) sPmC
A) SDNS
B) SDMS
16) What is the next number in the given series? C) Sb™MT
10, 230, 23, 51, 204, ? D) SCMS
A) 8 -
B) 4 18) @@ RID § QHC wise, MAD § LZC @I6Q 691¢ @9
)17 FRAUAIRT, 6069, TENT g @08 6919 99 FUDe
D) 13
A) SDNS
B) SDMS
16) 998 9I6Q a1 I IO LHIT @€ 62@ ? C) SDMT
?
10, 230, 23, 51, 204, ~ D) SCMS
A) 8
B) 4 19) What is the next number in the given series?
112, 114, 117,122, 129, ?
C)17
D) 13 A) 141
B) 142
C) 139
17) What is the next number in the given series? D) 140

197, 118, 202, 99, 207, 80, ?

A) 213
B) 207
C) 209
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19) ge@ 9166 2l AHIYFRR QR LT @€ 62 ?
110 1144171921297

A) 141
B) 142
C) 139
D) 140

20) What is the missing number in the given series?
41, 43,47, 7, 59

20) g9@ GA16Q @ QI AT Q& 26T ?
41, 43, 47, ?, 59

A) 57
B) 61
C) 53
D) 67

Join Us-' > f
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Section 4 - Paperl-Teaching Aptitude

21) Rosy found that in her new class some students carry
on their own conversation which at times annoys others.

Which of the following is the best way to handle this
situation?

A
B
C
D

Re-group students

Conduct oral test

Give brief, periodic quizzes
Engage all in group discussion

—_— e e

21) 6015 69%6R 64 GIRR G2 6541 PAEA 6609 T FF
ARIER REIRIE 62988, QIR 6967 6967 ARAIRG AYFUIER
aRIag | 1€ 08a5a QIS IR 699 QUIGE 90 am ?

A) 8185 R4 26 QAR

B) sdlgi@ ae1ng ada!

C) a°@g, A9Iea g9 6aal

D) aq1ag A2 2IERISFIER AR

22) In educational institutions which of the following is
considered as an antithesis of discipline?

A) Nationalism
B) Caste

C) Democracy
D) Religion

22) JRIQIIRYERER AONYS AR 6RAT JHRIQ FeRRIIA
QUER FSEe 62IRaN ?

A) Qo108
B) 1@

C) cgoa
D)

23) According to Kolb, the learning cycle is based mainly
on

A) maturation
B) experience

C) latent learning
D) new information

23) 6RINSF AN, S84 9 JHiS QI QAR AIeIS ?
A) 9Gagel
B) aigaa

C) gg das
D) gea e

24) Which of the following is NOT a characteristic of an
aggressive child?

A) Frequently loses his temper
B) Acts as an arbitrator

)
C) Inevitably challenges authority
D) Becomes frustrated easily

24) GIRYE FIER 6996 2GR TRIG AVE G6T ?

A) gi9es Udda

C) 2RIy RIEE ARG AIYS 60

)

B) qiug quse QI QaQ!
)

D) aawee Fold 6aIndal

25) Who among the following is the main supporter of
individual aims of education?

A) J. S. Ross
B) Aristotle

C) T. P. Nunn
D) John Dewey

25) fORGe Q18 AR @4 JRI0 U@ A QIeRIe Ande ?

TUAUY 10_Dalul LU LI LU wuid
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26) Which school of thought can we associate Gandhiji

with respect to his attitude towards education?

A) Pragmatism
B) Realism

C) Idealism

D) Existentialism

26) cIveIe dQ1 AN 9Fe AT AEA 6aW FoIg 6AIF
Qg ?

A) aigieie
B) qigeqie
C) ziedqie
D) 2@eei@

27) According to Freud, the animal instinct in man may
also be called as

A) Collective conscious
B) Super Ego

C)lId

D) Ego

27) 6799 2gAIN A8EF0I6a OF 998 @ QRIAN ?

A) Q9ge 6964
B) 2Gaa ae°aia
C) aGea

D) agqia

28) In a very typical situation, the child kept blaming others
for all the mischief he had created. This kind of
psychological adjustment mechanism is called

A) motivation
B) denial
C) refusal
D) projection

28) @ 54E 296, A8 FFIA AIR INIE ARYAIGT 61T
@ 199 99199 A92IER ACEAISE 2eLIg 94 LI ?

A) 6gadll
B) gouisuie
C) 2911
D) afsmas

29) "The aim of education is to develop ability of

selection," is a concept related to which of the following
schools of thought?

A) |dealism

B) Existentialism

C) Pragmatism
)

D) Realism

29) QLA CUC ARl QAL IV AYY ARG QUL AR ARG -

A) gledie

)
B) z@qQie
C) a4eaia9lQ
)

D) gaidieie

30) The first National Policy of Education was
promulgated in the year

30) AAPER FIV1A JWI F1G 66 QL 6IARARI ?

A) 2006

B) 1986

C) 1996
)

D) 2016
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Section 5 - Paperll-Odia Language

31) ‘sakal’, ‘Qeed’ a09ag QSR 9e gae et |

A) d@cdl
B) 942

C) 9

D) 6419

32) ‘9EA a9 FAQ1S A% eI

A) Q1
B) el
c) |gael
D) @é@al

33) FEAWY 6RERINEQ FAB ?

A) 9
B) %
C) ©
D) I

34) ‘291 QAI6Q AR 5L’ A2 9K 29 A&T §c Qal

A) ARIQ CAINA Gl
B) ARl AR PR AKER
C) f12QCq 9IQ LI2AsR 9§

D) qIgeq FdiQl

35) ‘QAUJAIS’ 69E 9IQQ UL ?

A) Q02
B) efe
C) @i
D) @I0@
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36) afiaa ealaue :

A) 20 ARERIQ AR
B) 9@ Q@4 fiee

C) 9Q QA ¢fiae
D) 9@ 99Q Aee

37) ‘G6aI8’ 906 cRW 90 IR 229 ?

A) PAURT
B) A1

C) a%
D) aidi

35) 2RRIACOIR YOI VIET QIVIQ A2A QRUAN?

A) 289IQ
B) 92GQ
C) 2ee
D) @ag

39) &> A7 2AR1AQ 99° ‘@’ 8 ‘Q’ ¥ Q4 AIRGER ‘A’ 6REW Q€6 afae §4°?

A) ®
B) &
C) &
D) @

40) gef 94I9 Q4R FQ Frae P09 | CRUIGe 990 6894 Fda eq ?

A) SEHTAG FCAHTE
B) RARIf® FEATE

C) YERI0e Fcaad
D) Q6 Feaad
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aQea A 9l 9RIEe 09 caIF 99 99 QAR RIF @'4 ?

A) @l

B) Q0@
C) Ias
D) QeI

“6011 60Q 1 QIF1 689 RIF1 7 - 1 QIRUCA FRE 9o aQua §4?

A) 69l
B) 6o
C) 629
D) @A

43) IR ARE - YR | I0I6R ANAAR €L

A) YQYImet
B) @@YIZlimet
)
)

8’ 3’ o

D

-

Wil

- 6RUC QYL QF ?

A) @I0ea alo
B) @U@0
C) U AR
D) WOAVIER O

) ‘adgQ’ 22 QSR 99 ACAIRINe e e |

A) 6QIERIQ
B) 6QIRQ
C) avip

D) aay
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Section 6 - Paperll-Mathematics

46) If while selling an article there is r% loss and the cost
price is C, then selling price S is

A) (1 +1/100)C
B) r/(100C)

C) (1-r1100)C
D) rC/100

46) 4@ G0 AQ6Q, r% BEG Y9 Q& Fa 6208 C, 6969 9
Ry S 6@6Q

A) (1+1/100)C
B) r/(100C)

C) (1- r/100)C
D) rC/100

47) The compound interest on Rs. 12000 for two years at
the rate of 5% per annum is

A) Rs. 1230
B) Rs. 1220
C) Rs. 1210
D) Rs. 1200

47) Q8@ 5% QI 21960 9@ 9 QIR 12000 SFI6Q 9FF G
669

A) Rs. 1230
B) Rs. 1220
C) Rs. 1210
D) Rs. 1200

48) V18 + V32 =

A) 773
B) 7v2
C)12

D) 8v2

48) V18 + V32 =

A) 7TN3
B) 7v2
C) 12

D) 8v2

49) Two numbers are in the ratio 7:9, if 10 is subtracted

from each, the remainders are in ratio 8:11. The numbers
are

A) 40 and 54
B) 42 and 60
C) 42 and 54
D) 40 and 50

49) Q@G gyl 7:9 2gIS6a 2, 9T 10 Qe0g S8 KQIKIRE,
QIGESY 2 8:11 ACT | 696@ AWIGER 6298

A) 40 9g° 54
B) 42 9e° 60
C) 42 9a° 54
D) 40 9g° 50

50) If the angles of a guadrilateral are equal, then it is
necessarily a

A) Rectangle
B) Trapezoid
C) Rhombus
D) Parallelogram

50) G 9999 6RIEYFR AR | 606 1L K€l 26T

A) 2190 698
B) gideae

C) eqQ

D) arieae s8e
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51) The possible value of k for which the equations x? +
kx + 64 = 0 and x? - 8x + k = 0 both have real roots is

A) 16
B) 12
C)8
D) 4

[a%]

51) k @ QAIRY R 6AR0 ANRQES X° + kx + 64 = 0 96" X

- 8x + k = 0 QU Q199 (@ 6268

A) 16
B) 12
C)s
D)4

52) What is the H.C.F of 11 and 5?

A) 25
B) 55
C) 1
D) 2

52) 11 6 5Q 91.41.9 6@6Q ?

A) 25
B) 55
C)1
D)2

53) What is the largest number that divides 626, 3127,
15628 and leaves remainders 1, 2, 3 respectively?

A) 625
B) 615
C) 175
D) 655

53) Q2@ QY KIQl 626, 3127, 15628 § AWGS @6Q 99°
Qelgea 1, 2, 3 QU 6%l QIR /€ 7

A) 625
B) 615
C) 175
D) 655

54) The radius of the circumcircle drawn around an
equilateral triangle with a side length of 24 cm is

A) 24 cm
B) 8v¥3 cm
C) 12¥3 cm
D) 24v3 cm

54) 24 cm QIg 6344 QFC 9@ AAQIE BEa 2Ee AG9eq
VIS 6763

A) 24 cm
B) 8¥3 cm
C) 12¥3cm
D) 2443 cm

55) The value of Y100+v0.01+v0.0001 is

A) 10.11
B) 10.001
C) 10.101
D) 10.01

55) V100+v0.01+v0.0001 @ €jmy 6208

A) 1011
B) 10.001
C) 10.101
D) 1001
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56) A line through the centre O of a circle of radius 7 cm,
cuts the tangent at a point P of the circle at Q such that

PQ =24 cm. Length of OQ is

56) 7 6261 QYIS S8 9@ 98N 68 O 711 696 IR 604, 9R9
P 36 Q Ol6a I6604Ig 689 K6a 609a@ PQ = 24 67 |
6969 OQ 636 6@60 ?

A) 27 cm
B) 25 cm
C) 24 cm
D) 26 cm

57) Divide 16 into two parts, such that twice the square of
larger part exceeds the square of smaller part by 164. The

larger part is
A) 10

B) 6

C)12

D)9

57) 16 @ 996 91960 369 @6, 60087 164 918l 9 I9a GFa
99 Gél 6816 VISR @F 01 2R 621 | B¢ AIGE 6369

A) 10
B) 6
C)12
D)9

58) If 'x' is a very small number compared to 'a', then ratio
of (a+x)2 : a2 is similar to

A) (a+2x) : a

B) (atx) : a

C)a?:a

D) (a+2x) : 2a

Join Us-

58) A6 'x' 6208 26 §9 QM 'a’ PRI, 6969 (a+x)” : a

Q gL @Il QTR QAR 629

A) (a+2x) : a
B) (at+x):a
)
)

(@}

a2:

D) (a+2x) : 2a

59) If A, B, C are 3 sets such that A c B, then which of the
following is always correct?

A) C-Bc C-A
B) CUB c CUA
C)C c AUB

D) C-AcC-B

59) 93 A, B, C 6208 3 ¢ 64g 6096@ 91210 A c B, 60969
FeAIR FIQ 6965 A9l OF 268 ?

A)C-BcC-A

)
B) CUB c CUA
C)C cAUB

)

D)c-AcC-B

60) The symmetric difference of two sets Aand B is

A) (A-B) U (B-A)
B) (AUB) U (ANB)
C) (AUB) - (ANB)
D) (A-B) N (B-A)

60) 9@ 64Q A 9a° B 0 9620 28 6208

A) (A-B) U (B-A)

B) (AUB) U (ANB)
) (AUB) - (ANB)
) (

A-B) N (B-A)

c
D
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Section 7 - Paperll-Social Science

61) The resources which exist in a region and could be

used in future, but are not developed yet to their full
potential are called:

A) Actual resources

B) Man-made resources
C) Potential resources
D) Abiotic resources

61) A% YL 99 YIL6ER ASTS Q8E @ AFYIPER MIFTIR 629,
3¢ 019 94 A0 A6 FRIY CTRAIRNET, SIRIQ GRIAN :

A) QIge aqe
B) ndage aqe
C) gaigl aqe
D) 21665a@ Qqe

62) Which of the following fuels are produced directly or

indirectly from plant materials and animal wastes through
anaerobic digestion?

A) Fossil fuel
B) Biofuel

C) Thermal fuel
D) Nuclear fuel

62) FORYO FRIQ 609 AVGE ARG AIPE YR QRS

AN B F1IORFE UL JENR @F A6V QI6e Y8 62PN
9

A) @1Q1g Q89
B) eFeasa
C) ciae awe
D) a163% ase

63) Who was regarded as the political Guru of Gandhiji?

A) Subhash Chandra Bose
B) Gopal Krisha Gokhale

C) Jawaharlal Nehru
D) Sarojini Naidu

63) QRILIY CIRFITA ANCTER JQ Q6 2SI G ?

A) geIQ 0F 6218
B) es10199a calIdem
C) eQIeienim 65629
D) gsqige cimg

64) Which of the following is an imaginary line running on
the globe that divides it into two equal parts?

A) Axis
B) Pole
C) Grid
D) Equator

64) G6QIS 6RGE QAS1R A7 RIGER TR YS! FISFR 0%
269 ?

65) An elastic wave generated by an impulse such as an
earthquake or an explosion is called:

A) Oceanic wave
B) Seismic wave
C) Electromagnetic wave
D) Surface wave

65) @died & §2IQ8 A7 9@ 21699 FIal @R 99 Joaae
ALQ @8 QRIAN ?

A) 1A LR

C) Qgie paa1a Aea

)

B) gasma aea
)

D) anee aea
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66) Which of the following terms in the Preamble of Indian
Constitution promote the spirit of brotherhood among
people, assures the dignity of the individual and the unity
and integrity of the nation?

A) Liberty
B) Equality
C) Justice
D) Fraternity

66) QIRGIE ARIAR YALRIER 7R IR FAAVREGS AR
PIPQ NS 6ZI2TR K6Q, 4&° F199Q ARG Y& F15/608Q Fayel
g2l Q°2G Gile @6a ?

A) qangal
B) aqige
C) quiar
D) 9ige

67) Who was the founder of Mauryan Dynasty?

A) Pushyamitra
B) Bindusara

C) Ashoka

D) Chandragupta

67) 6914 @°aQ QBB @4 glem ?

A) gavdig
B) Ggaim
C) zeaie
D) eeqa

68) Which among the following was the most common tool
used by people in Paleolithic age?

A) Screwdrivers
B) Trolleys

C) Hand axes
D) Cranes

68) YaIge g9a Golst LYY 629Nl ARIRE RURE -
F6QID FRIQ 62T AR ?

A) 3RIREQ
B) g&
C) eie qaI@
D) eaq

69) According to the Indian Constitution, every judge of
the High Court is appointed by the President with the
consultation of

A) the Chief Justice of the Supreme Court and the Chief
Minister

B) the Chief Justice of the Supreme Court and the
Governor

C) the Comptroller and Auditor General of India
D) the Law Minister of India and the Governor

69) WASIC ARG 2GAIL, FRERITA TENR @R IR
JRINEER AIGITE Il FYF AR ?

A) QENERITE QAR GRIRAE 6 JHINR
B) q@remica Qe GoIRa@ 8 Qigiale
C) eieea 899 8 AL6RAIRIR(AG)
D) Qiece 2196031 8 QIR4IR

70) Which agreement between Gandhiji and Ambedkar
refers to the reservation of electoral seats for the
depressed classes in the legislature of British India
government?

A) Gandhi-Irwin pact
B) Poona pact

C) Cripps pact

D) Gandhi-Cripps pact

70) 609 gP6Q 5§59 Q42 AARIAT ATACA LALER AR
Q0 IR ISR AR A°QT AAGEQ IS B 2R
ORIER 62IRAYR QNI QERY Q& ?
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A) QI91-908] $9
B) ggl 0@
Claags

D) qim-34 98

71) Who among the following is the Supreme Commander
of the Armed Forces in India?

A) Defence Minister

B) President

C) Prime Minister

D) Attorney General of India

71) G691 FRIQ @ VINGA 6271 TR A6FIP 6ARIUN 26T
2

A) g@asl 9
B) aiga@
C) guie aa1

D) QI0ea 21641 6262QIR (ARIRYINRIST)

72) The elections to the Constituent Assembly were held
in:

A) September-1946
B) April-1946

C) July-1946

D) December-1946

72) QRIS A1 QIR AR 6RER 6TARR ?

A) saqqe -1946
B) w@m -1946
C) gmix-1946

D) 362¢-1946

73) Which of the following is a type of large dome-shaped
intrusion with a flat bottom formed when magma forces its
way into the overlying rock strata?

WtsApp/Call- 8596976190

A) Batholith
B) Phacolith
C) Lapolith

D) Laccolith

73) QURE 99 994 6aG @6 21dgal , AIgl 60 TR FRTRIL
FIRIRIR G2 AR Be°8 Y 9T , TI6Q IR 6REIT 2T ?

A) Qieai@el
B) criemimel
C) musai@el
D) quemimel

74) The Royal Observatory, Greenwich is an astronomical

observatory established in 1675 in which of the following
countries?

A) Mexico
B) England

C) Argentina
D) Brazil

74) 3¢ RAYC 694 6QH6A QIR AVECITEEIE gI] &9

QR EHITIRA Y6V 671 QTS - AR & 1675 AdaleR
QAITe caIREM ?

A) 6ageal
B) arqe
C) zeraal
D) oida

75) Which of the following is the study of the atmosphere
and its phenomena?

A) Palaeontology
B) Geology

C) Meteorology

D) Geomorphology
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75) QIZAIER B QARG RIARY @€ QRIAN ?

A) QIERICEIERS
B) QB6RIR

C) 6q16g16R1%
D) Gaaeciena@
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Section 8 - Paperll-Science

76) In Bt Cotton, Bacillus thuringiensis is used as
biocontrol agent for

A) controlling butterfly caterpillar
B) biological treatment of water
C) defence against parasite

D) biological treatment of sewage

76) QdRq g@Eeadd (@
QUER QY99S §4

A) geIa8 daigel faae
B) aifia 635% ageia

C) afaie giensoIq gas!
D) aaql 0ifiq 6535 2991

77) Robert H. Whittaker five kingdom classification
includes all of the following, EXCEPT

A) Monera
B) Plantae
C) Fungi

D) Parasite

77) Q96 49 gRC9A @ JIf 94 JAIFRER FIRYE AUQ 675G
gI% Q1@ A8 OFF ?

A) sarsqel

)
B) gem
C) @@

)

D) gag1e1

78) The process of conversion of gaseous state into liquid
state is called as

A) sublimation
B) evaporation
C) melting

D) condensation

G) gl 66‘@8466‘1 650 GUad Qe

78) GHIIG 2IGYIR GAF BRAIG QUISES 6291 YA FRIAN ;

A) a8 aiee
B) a§aad
C) cafal

D) ag1aad

79) Supporting roots that comes out of the lower nodes of
the stems of maize or sugarcane are called as

A) Stilt roots

B) Pneumatophores
C) storage roots

D) Nodular roots

79) ORI &7l 2Ig 989 IR GF 2°6 62 29I GId 09 QIR e
AR OF § 94 GRAAIN :

A) Qe qe

C) gaisdie g

)
B) quaiecisariad / 42 9@
)
D) cdga e

80) Which of the following cells does NOT contain cell
wall?

A) Fungi
B) Animal
C) Bacteria
D) Plant

80) FIRYS 69 62R JoR6s 6Q1a gI91Q @ 21?

) @
) a
)
D) ade

ag
Q18I
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81) What is the chemical formula of plaster of paris?

A) (CaS0s4), .H:0
B) CaSQ4.2H:0
C) CaS04.H:0

D) CasSQOq

81) QIFQ 2T QYT @ QUAATR YGT @4 26T ?

A) (CaS04): .H0
B) CaS04.2H:0
C) CaS04.H0O

D) CaSQ,

82) Sl unit for measurement of mass and time
respectively, are

A) kilogram and hours
B) gram and second

C) kilogram and second
D) pound and minute

82) 99Q ¥S° AFAQ FIY 99Q Q2UFEF K6l 26T

A) Geaigie 8 Qe

B) glif| 8 cacwa

C) Gemigie 8 6a6a8
D) aieg 6 §dg

83) What is density. What is the Sl unit of density?

A) Volume per unit mass and is measured in m/kg
B) Mass per unit pressure and is measured in kg/m

C) Ratio between mass and weight and measured in
kg/m

D) Mass per unit volume and is measured in kg/m?

83) 499 @9 | AP 99 @4 AT ?

A) 9gQ 9ae g8 ata1€ 99 9@l m/kg 6Q FIId 62198
B) ¢19 9@ g3 92@ 9e° 9@l kg/m 63 QY 68IRE

C) 92Q 98° 889 U6 AgAIG 98° 9@l kg/m 69 FIId 62108
D) a1 9a@ g6 @gQ 1e° 9@l kg/m3 6@ 91 62108

84) Which of the following forces are conservative forces?

A) Gravitational force, frictional force and elastic force

B) Gravitational force, electrostatic force and elastic
force

C) Electrostatic force, frictional force and gravitational
force

D) Electrostatic force, frictional force and magnetic force

84) R6ElIB FAIQ 6206 QTG 9 26T ?

A) a2IRds 9R, Qg8 9F ACAITE &R

B) ngieds o, , 32 AQiQ o7 , 89919 oF

C) §a 8q4q 9%, Add a7, Aedd o

D) §a 894Q 9%, ALIRTE 0R.A94 QF, PAR1A QR

85) On mixing sodium sulphate solution with barium
chloride solution we get solution of sodium chloride and
precipitate of barium sulphate. This reaction is an example
of

A) double displacement reaction
B) single displacement reaction
C) triple displacement reaction
D) no displacement reaction

85) 6207 69/919 A2 6AFAF ANCTE IR FgIQ 2I6a
ST 6QIAURNY IS° 690AF| ANCTY O SIEVAS 94 TR |
OE go50 62900 U9 A28 ?

A) § aiRiged gagal

B) yee giIrieed gagal
C) 3 airieqd &gl
D) z¢ ginieed gogel

86) The component of the contact force parallel to the
surface of contact is called as
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A) Viscous force
B) Buoyant force
C) Frictional force
D) Normal reaction

86) Q°Y4 9RG 69R T I’ GF ATS AAIIAIR ASAIER 2N

Q121G GRIAN :

A) QeI of

B) auaqig ew

C) adeee

D) auiag oo

87) Which of the following is a scalar quantity?

A) Speed

B) Force

C) Displacement
D) Velocity

87) GRgE FRIQ 6Q6i0 9@ 2@4 AFIE 2166 ?

A) 629
B) aw

C) Gaiae
D) o@eea

88) Which of the following structures in Animal cells have
arole in cell division?

A) Peroxisome
B) Centrioles
C) Vacuole

D) Plastid

88) Q9T 6RIF6A CRIFR FNFFER FERIB 616 AAVAITA
Qi@ 0@g ?

A) 6a6a1gewIe]
B) c@ge

WtsApp/Call- 8596976190

C) a@uig
D) qee

89) Turnip, is the example of modified

A) stem
B) root
C) leaf
D) flower

89) ARG 6990 9@ AAES QUA ALILNE AES ?

A Qig
B) 6oa
C) ag
D) ga

90) Which of the following disease is caused by bacteria?

A) Tetanus

B) Aspergillosis
C) Filariasis

D) Dengue

90) G621 694 6QIG! QIIE] / Gl QIR ?

A) Seieq

B) 2162086mIdq
C) aieendal

D) seq
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Question Paper No: 47071_82

Answer Key

1. B 31.B 61.C
2. A 32.D 62.B
3. B 33.B 63.B
4 D 34.B 64.D
5 D 35.A 65.B
6. D 36.D 66.D
7. B 37T.A 67.D
8. B 38.B 68.C
9. B 39.A 69.B
10.A 40.A 70.B
11.C 41.D 71.B
12.C 42. B 72.0C
13.C 43.A 73.D
14.D 44.B 74.B
15.A 45.A 75.C
16.B 46.C 76. A
17.D 47.A 77.D
18.B 48.B 78.D
19.D 49.C 79. A
20.C 50.A 80.B
21.A 51. A 81. A
22.A 52.C 82.C
23.B 53.A 83.D
24.B 54.B 84.B
25.C 65.A B85 A
26.C 56.B 86.C
27.C 57.A 87.A
28.D 58.A 88.B
29.B 597A 89.B
30.B 60.A 90.A

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

